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/ Differential Calculus

Lab Assignment 4

1. Find an explicit formula for the inverse of the function. Also find the domain and
range of f and f~1.
a) (4 marks) f(z) = v3+ 9z.
‘@ (4 marks) f(z) = e=*.
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2 Solve each equation/ mequa.hty for z.

a.) (5 marks) Inz + In(z — 2) = In35.
) (4 marks) €*~%* > 7.

(c) (6 marks) f(z) =

3 Eva.luate the following without using a calculator (Show your steps):

/() (5 marks) sin (cos-l (—3)> =9

(b)j.(s marks) cos (tan*l (:5_>) 5 /{5\'\
(c) (2 marks) tan™" (tan (-7))
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